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Circular motion refers to the movement of an object along a circular path while rotating. This type of motion can be either uniform or non-uniform. During uniform circular motion, both angular rate and speed remain constant, whereas during non-uniform motion, the rotation rate keeps changing. Common examples of circular motion include man-
made satellites orbiting Earth, rotating ceiling fans, car wheels, windmill blades, and gears in gas turbines. A particle executes circular motion when it moves along a circular path, with its direction constantly changing unlike in linear motion. Given text has been paraphrased as follows: Newton's laws of motion can be applied in two different
scenarios: on a level road and on a banked road. On a level road, there are three forces acting on a vehicle - its weight, frictional force, and the normal reaction. The centripetal acceleration is provided by static friction, which holds the vehicle back from moving away from the circle. When a vehicle is on a banked road, the effect of friction can be
minimized if the road is slightly raised on the outer end. This is called banking. The net force along the vertical direction is zero since there is no acceleration along this direction. The centripetal force is provided by the horizontal component of the normal reaction and the frictional force. By substituting the value of frictional force in terms of the
coefficient of static friction, we can find the maximum possible speed of the vehicle. In addition to these scenarios, other questions have been addressed regarding angular velocity, rotational motion, pendulum motion, circular motion, and the minimum velocity required for a car driver to traverse a curve. Circular movement, whether it's rotating
around a central point or following a circular path, is classified as circular motion. This type of motion can be either consistent or inconsistent in its pace. Examples of circular motion include satellites orbiting at a steady speed, ice skaters gliding in perfect circles with constant velocity, and cars cruising along curved roads. In cases of uniform
circular motion, the acceleration of an object can be calculated using the formula a = v~2/R, where 'v' represents the velocity and 'R' is the radius of the circular path. This acceleration points directly towards the center of the circle, at right angles to the moving object's velocity.
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